
Name: Date:
Class:Teacher:

Multiple Operations 503
What has bread on both sides and frightens easily? A 
chicken sandwich.

Remember to work out all the items in brackets 
first.
NOTE:  Multiplication and Division are done before 
Addition and Subtraction.
YOU NEED TO DRAW IN THE BRACKETS FOR 
MANY QUESTIONS!!!

1.
2.
3.
4.
5.
6.
7.
8.
9.
10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.

4  –  2  +  19  –  6  +  16  =  
16  ×  (19  –  10)  ×  13  +  6  =  
9  +  (12  –  7  +  11)  –  16  =  
3  –  3  +  3  –  2  =  
5  ×  15  +  4  ×  15  –  4  ×  4  =  
19  +  8  +  19  ×  17  –  13  =  
2  –  2  +  11  –  9  +  3  –  3  =  
73  –  (11  +  20)  –  19  =  
18  +  6  ×  3  –  2  ×  16  +  11  =  
11  ×  13  –  5  ×  5  =  
30  –  (3  +  8)  –  16  +  (17  –  14)  =  
3  +  (14  –  11)  ×  (10  –  3)  =  
(12  +  8)  ×  (18  –  8)  +  10  ×  17  =  
5  –  5  +  18  –  12  +  19  –  19  =  
10  ×  16  +  9  ×  6  –  9  ×  4  =  
(19  +  16)  ×  (17  –  11)  +  14  ×  9  =  
19  +  2  –  2  +  7  –  2  =  
40  –  (10  +  19)  –  7  =  
(3  ×  12)  +  (19  ×  (21  –  18)  ×  11)  =  
10  ×  (18  –  4)  ×  9  =  
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Answer Key Date:
Class:Teacher:

Multiple Operations 503
What has bread on both sides and frightens easily? A 
chicken sandwich.

Remember to work out all the items in brackets 
first.
NOTE:  Multiplication and Division are done before 
Addition and Subtraction.
YOU NEED TO DRAW IN THE BRACKETS FOR 
MANY QUESTIONS!!!

1.
2.
3.
4.
5.
6.
7.
8.
9.
10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.

4  –  2  +  19  –  6  +  16  =  31
16  ×  (19  –  10)  ×  13  +  6  =  1,878
9  +  (12  –  7  +  11)  –  16  =  9
3  –  3  +  3  –  2  =  1
5  ×  15  +  4  ×  15  –  4  ×  4  =  119
19  +  8  +  19  ×  17  –  13  =  337
2  –  2  +  11  –  9  +  3  –  3  =  2
73  –  (11  +  20)  –  19  =  23
18  +  6  ×  3  –  2  ×  16  +  11  =  15
11  ×  13  –  5  ×  5  =  118
30  –  (3  +  8)  –  16  +  (17  –  14)  =  6
3  +  (14  –  11)  ×  (10  –  3)  =  24
(12  +  8)  ×  (18  –  8)  +  10  ×  17  =  370
5  –  5  +  18  –  12  +  19  –  19  =  6
10  ×  16  +  9  ×  6  –  9  ×  4  =  178
(19  +  16)  ×  (17  –  11)  +  14  ×  9  =  336
19  +  2  –  2  +  7  –  2  =  24
40  –  (10  +  19)  –  7  =  4
(3  ×  12)  +  (19  ×  (21  –  18)  ×  11)  =  663
10  ×  (18  –  4)  ×  9  =  1,260

© Facilitators Ferriswheel WS#:MO503 Score:


